=~ Determine the force in members FH,GH, and GI of the roof truss shown in Fig. 2. (20%)
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— ~ Three loads are applied to a beam as shown in Fig. 1. The beam is supported . 6 pane]s @ 5 m=30m
by a roller at A and by a pin at B. Neglecting the weight of the beam, determine

the reactions at A and B when P=15N. (20%)

Fig. 2

= ~ The disk has a mass of 30 kg as shown in Fig. 3 and it is pin-supported at
its center. If it starts from rest, determine the number of revolutions 1t must

make to attain an angular velocity of 20 rad/s. Also, what are the reactions

P 6N 6N at the pin? The disk is acted upon by a constant force F=10N, which is applied
to a cord wrapped around its periphery, and a constant couple moment M=5N-m.
Neglect the mass of the cord in the calculation. (20%)
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m ~ For the system shown with Ma=100kg, K=100 N/m, Mb=20kg, and coefficient of friction
u=0.2, find the velocity of block A after block B descended for 4m from rest. Assume the
pulleys are negligible mass. (20%)
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% ~ Two smooth disks A and B, having a mass of 1 and 2 kg, respectively, collide with initial
velocities as shown in Fig. 5. If the coefficient of restitution for the disks is e=0.6, determine
the x and y components of the final velocity of each disk after collision. Neglect friction.
(20%)
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